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1). What is the name of the tool used in the sheet metal work is shown in the figure? | e Hed=dl ST

ATOR T ST WY AT1d BRI 38 d PpaHed GrRaad 3g?

(A) Jenny caliper | SIFT STerR

(B) Trammel | Eﬁ?r
(C) Divider | fS®SR

(D) Wing compass | a1 Uy

Correct Answer : B

2). Why burr is formed on the underside of the sheet metal while shearing? | STaRdMI 2T Dl Al
SIS §R DT TR gIdl?
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(A) No clearance | PHIUdIe] TSR ATel

(B) Hardened metal | DR Y1,
(C) Increase in force | ST dlhq
(D) Excessive clearance | Sffadiad R4

Correct Answer : D

3). What is the reading accuracy of the steel rule? | ¥l Tardl ATST SIHdl B 3132

(A) 0.005mm
(B) 5.0mm
() 0.5mm

(D) 0.05mm

Correct Answer : C

4). Which sheet metal is easier to joint using soldering? | HIes NI 0= HIUMd e Hed Sieul iU 317g?

(A) Tinned plate | feswe
(B) Lead sheet | <l e
(C) Galvanised iron sheet | TcarTgss dGe! UAT
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(D) Stainless steel sheet | LAY Whd Qe

Correct Answer : A

5). Why acid tanks are made of lead sheets? | RIS T R mﬂaﬂ?ﬂﬁ?

(A) To protect against corrosive | HERGTURIA HI&0T SIS

(B) To protect against oxidation | &m TRE0T T
(C) Highly resistant to abrasion | HYU[ HRUGTATST 3 UfeRIee

(D) To avoid leakage | Tl Sl UG

Correct Answer : A

6). How is the blunt compass point sharpened? | &ic HU Ulec HT YURER Bl STI?

(A) Grinding |‘Jﬂ§%ﬂ

(B) Oil stone | ATRIT SIS

(C) Rough emery sheet | IY TRY ™
(D) Using file | TTSd dToRd 32

Correct Answer : B
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7). What is the use of bent snips? | éﬁ'mﬂmwm 3{Tg?

(A) Groove cut | & P
(B) Zigzag cut | fSHTINT e
(C) Straight cut | % &¢

(D) Circular cut | HTEF{I?R'W

Correct Answer : D

8). Which tool is used in sheet metal work to scribe a circle or arc with a large diameter? | WW@G@E
fear =y ferfguarandt 2fie Hed=ar HIHTd DI JreH oY S?

(A) Spring compass | BT

(B) Trammel | fﬁ'ﬁ
(C) Wing compass | fd dhurg

(D) Ordinary compass | ITHTI HUH

Correct Answer : B
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(A) Copper sheet | diedrd 2fic

(B) Aluminium sheet | ﬁ?ﬁ&lﬁﬂﬂﬁﬂ?

(C) Hardened sheet metal | Hed Mic Acd
(D) Mild steel sheet | qg Td gfte

Correct Answer : C

10). What is the name of the joint shown in the figure? | 3T dHE GRITITT FiTd A1d BT 317

G

Y N Y Y S [=
EEEET RNy Sy !

T RN

I T LA R

W W *

o (-

(A) Grooved joint | DI IER
(B) Pane down joint | U9 313 dlis<

(€) Knocked up joint | AIds 37 ulTsrc

(D) Double grooved seam/joint | g%il @E’Uﬁﬁﬁ'ﬂvﬂ'ﬂiﬁ

Correct Answer : D
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11). What is the name of the stake shown in the figure? | 31I<17c|nlcl RIS I hd AA1d BT 3Tg?

(A) Hatchet stake | s”ﬁz TP
(B) Funnel stake | 3T g Wb
(C) Half moon stake | s fhar s 3T

(D) Round bottom stake | IASS dicH KD

Correct Answer : D

12). What is the use of Tinman’s 'L’ square in sheet metal? | Yfic Heauy fead—=ar T’ Th 3R BT ITANT
?

(A) To check concentricity | ThTIdl LRI
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(B) To check cylindricity | Rifefs ket quruarTd!

(C) To check perpendicularity | AEaaUUIT TURIUITETST
(D) To check angularity | DT TUTHUARITS!

Correct Answer : C

13). Which sheet metal is highly resistant to corrosion and abrasion? | D0 i Ted BRI ST sior-
UfcRIY® 3187

(A) Copper|ﬁCIT
(B) Black iron | &b 3T+

(©) Aluminium | a[?gﬁrﬁam
(D) Galvanised iron | Tea-T3ss ST

Correct Answer : C

14). Which defect can occur in the sheet metal if the bottom round stake is perfectly flat without chamfer? |

SR de T e HIT JdHRIRIEr Juigul JUTe $d oR e HeaHed HIufdT gt 43, Adhd!?

(A) Spring back and wrinkling | f&RT d 3{TfoT Rfdei
(B) Excessive thickening | SITd ﬂ%’@'&[
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(D) Excessive thinning | ST UTdes gI0l

Correct Answer : C

15). What is the use of stakes in sheet metal work? | e Hed dpAe s Il SUANT BT id?

(A) Rest of work | 3dNd HTH

(B) Supporting piece | gD b ST
(C) For sharpening | d1&01 HRUTMEIST
(D) For folding shapes | DI ATHRINTS!

Correct Answer : B

16). Which process makesgj] oints by fastening two edges of the sheet metal together? | e Headl g el
UhA EIT‘EEI

(A) Hemming | BT
(B) Seaming | T
(C) Notching | AT
(D) Grooving | T[&T
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Correct Answer : B

17). What is the name of the part marked as ‘X’ shown in the figure? | W%ﬁaﬁﬁﬁw X' %Uﬁﬁ!%m
DIl U ATd BT 357

x_

(A) Clamp | FerH

(B) Lever arm | iiegx 3/

(C) Lower blade | AR S
(D) Upper blade | TR &S

Correct Answer : D
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18). Which part of the combination set is used for marking and measuring angles within an accuracy of 1°? |
1o & oI fgifrd HYUGTAT 0T HISUGIAIST SIS YT SIurdl YT JTURdT SiTdi?

(A) Protractor head | Iﬁfﬂ?\’%@"
(B) Centre head | ¥ 88

(C) Rule | g

(D) Square head | AHH S

Correct Answer : A

19). What is the name of the stake shown in the figure? | &Wﬁ GrRIaI ] I dhd Hid BT 3HTg?

W

(A) Horse|@ﬁ
(B) Bick iron | 1 A+
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(C) Funnel stake | BAd K h

(D) Creasing iron | SHIRIT ST

Correct Answer : C

20). Which hammer is suitable for riveting? | DI gHR Regfe=T A1ct g 312

(A) Plastic hammer | WP A

(B) Ball pein hammer | CIGR | R Rk

(C) Cross pein hammer | aﬁﬂtﬂ:r-é:’m
(D) Straight pein hammer | S UH g

Correct Answer : B

i:l)%Which sheet metal has better appearance than other metals? | TR iﬂ?ﬁ&ﬂ P e Aedd WEY I
?

(A) Black iron sheet | hTdI] NIEEERE
(B) Aluminium sheet | 3{=cgfafaH gfie
(C) Lead sheet | PRIERIE

(D) Copper sheet | disT =i
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iﬁ% What is the name of the warning sign shown in the figure? | W@E&ﬂcﬁmw EHERICEDR
?

¥

(A) Risk of electric shock | $alrd\§0b RiepdT HhT

(B) Risk of fire | 3ITT ATRTULTET &fiehT

(C) Risk of explosion | IAEEIRIE]

(D) Risk of ionizing radiation | STIHIHRUT A STRI el

Correct Answer : B

23). Which shearing machine is advantageous for single or continuous cutting action? | Ul fobar Iad Hic
fopaTdY I BTaR Ul HRiF BTGk z—ng?

(A) Guillotine shears | frefes fRreRr
(B) Squaring shear | W3R RISR
- - -G -Bench-sheaﬂﬁﬂ-ﬁi&ll ----------------------------------------------------------------
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(D) Hand lever shear | B8 ey fAIeR

Correct Answer : A

24). What is the name of the part marked as ‘X’ shown in the figure? | &ﬂﬁﬂ?ﬁi"&fﬁaﬂ X' U fegifdrd
%@7 YT 19 D1y 3782

(A) Base plate | 9 @e

(B) Lever arm | faregx omd
(C) Lower blade | SR S
(D) Upper blade | 3R &S

Correct Answer : C
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25). What is the purpose of a groover? | gl I HY 3HTg?

(A) Releasing of seam | T Igsu

(B) Compress the seam | BIEEACL

(C) Closing and locking of seam | 9 §¢ FH3ul SMfor e Heol

(D) Stress relieving during seam operation | 1T TR I qUITE B HR0!

Correct Answer : C
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NIMI Mock Test

1). Which spelter is used for brazing of gold ornaments? | =T QI SfSTET3T 10 WeeR a1 Sid?

(A) Silver solder | FigIT! HTsT
(B) Copper solder | did Hleex

(C) Tin lead solder | f¢ dite dieex
(D) Lead solder | <l Titex

Correct Answer : A

2). What is the name of the part marked as ‘X’ shown in the figure? | &W@aﬁﬁ@w X' %’UEW
beledl YT 19 BT 3Te?

-

(A) Tail | <d
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(B) Body | dTal

(C) Head|%S
(D) Diameter | 19

Correct Answer : B

3). What is the purpose of drift in riveting operation? | RegfewT &FTWH@@’%%IT 3e- BT 38?2

(A) To form the rivet head | R&g¢ Slop TR HRUTMIS]
(B) To make the holes to be riveted | @ riveted B0 HIUAMNEIA]
(C) To align the holes to be riveted | Yge aaara=aT gIed A1 UHT I=d SATUTu

o

(D) To prevent damage the to rivet head | fRec ged REASIE| RCUIR3IF]

Correct Answer : C

4). Which rivet is used in heavy structural work? | 518 IAATH®D HTHII HIUAT Yegcdl dTUR bl Slal?

(A) Pan head rivet | U9 g8 R@ge
(B) Snap head rivet | &0 g8 R&ge
(C) Counter sunk rivet | #T3cR I& Rege

(D) Conical head rivet | HIHd 58 Rac
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Correct Answer : A

5). Which flux is used for soldering steel? | e 31 A1 HIUId] Udlg dTuRe SITdl?

(A) Ammonium chloride | SHITH FIRSS
(B) Zinc chloride|\_:|WT:|T'hTI€_E>r

(C) Resin | XRH

(D) Paste | U

Correct Answer : A

6). Which tool is used to form the final shape of the rivet head? | Regc g1 SifdH THR TIR HRUINTS]
1L AR SITd?

(A) Dolly | Sicil

(B) Drift | fgue

(C) Rivet set | e e
(D) Rivet snap | R@e ®u

Correct Answer : D
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7). What will be the result if the handy soldering copper bit is used on the light gauges of metal? | gl
PR foe YT AR TSR TR B U&Uﬂﬂéﬁ‘s“a?

(A) Metal will be buckled | icd TH T $d A5
(B) Metal will be sheared | ﬁ?ﬁff&?ﬁﬁlﬁﬁ

(C) Metal will be wrinkled | 4T IR God

(D) Metal will be spring back | Hiea TRd &I 3@

Correct Answer : A

8). Where is the sweat soldering process applied? | 9TH e T Ui ﬁ Fﬂ"lﬁ STd?
(A) Reworking of ornaments | GIRI=ATE! TR

(B) Electrical soldering work | safo?;om IS AT DT
(C) Body repairing workshops | drst RueraT adeTe
(D) Joining of tool bits | ;’ﬂmm

Correct Answer : C

9). What is the name of the part marked as ‘X’ shown in the figure? | 3@ gRifdde ‘X' UH frgifdd
hoiedl YR H1d BT 3HTe?
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/ x’/\)
(SIS A « \
DN )\\\\\\\ﬁ

(A) Dolly | fsue
(B) Rivet set | STt

(C) Fullering tool | @@ii‘l cd
(D) Caulking tool |H'fl"|%m'1T§T'T

Correct Answer : D

10). Which inorganic flux is used in soldering stainless steel metal? | Ty Td W@W@W
JdTg dTORe SiTcl?

(A) Muriatic acid | gRufeH TR

(B) Sal - ammoniac | 9Td - M-S
(©) Killed spirits | fbeg RURe

(D) Phosphoric acid | Wm
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Correct Answer : D
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NIMI Mock Test

1). Which arc welding machine provides better heat distribution in the electrode and the job? | DIV 3MTh

ST T Feide ! SO NHATE el ST faeR01 UGl Hc?

(A) Rectifier set | YfFeHAR AT

(B) Motor generator set | HIex SFReR 3¢

(C) Welding transformer | SO Skex de
(D) Engine generator set | T8I afts ] SIHIHR

Correct Answer : A

2). Which welding hand tool is used to open the gas cylinder valve? | 9 RiclsR &leeg SUSTIMTE! HI0d
g8 ¢ dIURd STcl?

(A) Wrench | =
(B) Cylinder key | fRrdisx @t
(C) Cutting player|$ﬁ1T@&"IT§'

(D) Adjustable spanner | TR R

Correct Answer : B
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3). Which welding machine is designed to supply both A.C and D.C current for\welding fe(rous and non-
ferrous metals using all types of electrode? | ST A= 94 UHRd RCldc[S dIU- Yy 3ATOT A7-hR

YT dfeE 13T A.C D.C faggd Udig qRavar3! e daidi 3i1e?

(A) Rectifier set | YfFeHAR AT

(B) Transformer set | E;Fﬂ'q?ﬁ? Jc

(C) Motor generator set | TIeR SRR HC
(D) Engine generator set | SO SFReR |

Correct Answer : A

-

4). Which term refers to the metal deposited during one pass of an electrode? | $€1d§I6wl UhT UTH &I
SHT el YTl TG BIUdT Ved ?

(A) Backing run |a?|%mq
(B) Root run | ¥c A

(C) Run |3

(D) Sealing run |@ﬁ%‘iﬂ?—*{

Correct Answer : C
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5). What is the pressure maintained in acetylene cylinder? | ufifediq Rifciexas fordt ard IRgar Sirdi?

(A) 150 kg/cm?
(B) 15 kg/cm?
(C) 0.017 kg/cm?

(D) 120 kg/cm?

Correct Answer : B

6). What is the effect of using matches to ignite the acetylene gas from the tip of the nozzle? | B ISGE]
I Ysdfcld SO T ORI 19 giRond gidi?

(A) Does not catch fire | 3T Ueh g Fb]
(B) More smoke | 3fePH ¢

(C) Hand will get burned | 8Td ST&dId
(D) Explodes suddenly | 3A® ThIC gidl

Correct Answer : C

7). Which colour is painted on the acetylene gas cylinders? | TRIfCeiH 14 ffciear lvrdr 1 Fraar Sirdi?
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(A) Black | XI

(B) Green | UM

(C) Blue | ]
(D) Maroon | H¥=H

Correct Answer : D

8). Which welding hand tool is used to hold and manipulate the electrode? | '{@!G@_S'WWIBQ[ 3{Tfor
DIUd AfeST §S & dTUR Sill?

(A) Electrode holder | Eﬁﬁ@%’ gicsY

(B) Earth clamp | 31 aeryg

(C) Tongs | oy
(D) Spring loaded clamp | F3RT &l8 &

Correct Answer : A

9). Which defect is caused by the absorption of atmospheric Oxygen and Nitrogen by the molten metal in
CO, w%%ng? | CO2 %@méﬁaﬁwa@wﬁa &ﬁmw%wmm
BEIY ?

(A) Overlap and run out | Bﬁ%ﬁq 3O 3 3TSHe
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(B) Weak and porous weld | $HPpad HTOT Giwss dcs

(C) Complete penetration | g0 Ta=T
(D) Excess wide bead | Sffafed $q dts

Correct Answer : B

10). What is the function of AC welding transformer? | T3t AftET CIHIHI B B 3HTR?

(A) It changes to low voltage and high current ampere | o P Bl Sfr 3= Hie ATURAL dead
(B) It changes to high voltage and low current ampere | d 3 Bleedl A0 HH gaq SUSRTA daed

(C) It changes to low voltage and low current ampere | @ HH Fleedt 0T HH aaq SHUSRTED daed
(D) It changes to high voltage and high current ampere | d I gleed AU 3= iang iang SffeRTed gqard

Correct Answer : A

11). What is the storing capacity of an oxygen cylinder? | 3HTfRTST Rici et Traqur &wdT fobdl 3 ad?

(A) 7m?

(B) 10 m3
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Correct Answer : A

12). What is the name of the safety operation carried out in welding plant shown in the figure? | &Wcﬂﬂ?ﬁ
IfeST WicHs doied YR&T IR Hid B Hg?

(A) Compressor used to force out fuses | TSI dTgR HIGUINITA! HUTR ATURT SITcl!

(B) Cooling the surface to clear gases | T A WWIB‘T%?-WT %ﬁﬂ'{

(C) Water forced to clean the surface | gSHIIT 9% H0 T13! urofi waRrd

(D) Exhaust duct capture fuses and gases | QW\II'\‘E' g% 9 3Tfor m]ﬁ'\‘l PER HId

Correct Answer : D

13). What is the disadvantage of AC welding transformer? | Tt afedT Q'N'qo_\llﬁ?%[ dic &1 3HTg?

- = - (A) "MI6ré iitialcost T SR IR fmg - = - - ==~ - "= --"---"“----------------------oomoommmmmm oo
Cont act - 9370948482, 8055403224, 9325721873
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(B) Not free from an arc blow | T A0 FChT YR o Ala!
(C) More maintenance cost | 313 S@HTA Td
(D) Not suitable for welding non-ferrous metal | A19-d Hed dfecsHTat g ATe!

Correct Answer : D

14). What is the name of the hand tool shown in the figure? | 31I<1>c|nld GrRaacied] Il YT A1 BT 3Mg?

(A) Straight pein hammer | 9% U grdre]

(B) Ball-pein hammer | §id - O BTdIs
(C) Chipping hammer | T gTareT
(D) Cross-pein hammer | %Iy - U grarel

Correct Answer : C
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15). Which hand tool is used to handle the hot metal in welding? | dfSTHe TRY ‘J@SIdlobUtII{-lldnl HI0Td gId
USRI ITUR STcl?

(A) Snips | Rrog
(B) Tongs | T1=H
(C) Shawel | TMdd
(D) Poker | AT

Correct Answer : B
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NIMI Mock Test

1). What is the name of the part marked as 'x’ shown in the figure? | x' ¥6U[ fagifdrd Hald U A1d ®1T
31T8?
! M O
L -
Cﬁs /IJ:LI
./ X

(A) Oxygen valve | 3RS 28U

(B) Acetylene valve | Eﬁﬂ%ﬁl‘[ B
(C) Oxygen pipe | 3fifaRIor I
(D) Oxygen level | JTTRIS TTdB!

Correct Answer : B

2). What is the effect of directing the steam of high pressure pure oxygen on to the red hot ferrous metal in
gas cuttin process?|wwmﬁm%&n@4ﬂ2ﬁwww TRy YTdaR ¢ 1R1d HRUgrET H1
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(A) Oxidation and Liquefying the metal | YT JTTRTSRI 30T SdihRUT

(B) Oxidation and Harden the metal | 3{TTRIST 3O 4T HAR HRA
(C) Oxidation and cut the metal | SITTRISTI 3{TOT YT HTYT €THT
(D) Oxidation and evaporating the metal | 3ilfeRTSRIH TN &Tcd ST

Correct Answer : C

3). Which equipment protects the body from the flying spark during gas cutting? | T T R IS UM
JUDH N IR TRETUT HRcl?

(A) Leather cap | iaR &

(B) Leather apron | R ﬁ'ﬂvﬂ

(C) Leather shoes | R RIS

(D) Cutting goggles | HIC=T MR

Correct Answer : B

4). Which factor determines the current setting during welding? | DI Uedh dfeaT G IqH HieT
feiRd P

(A) Types of joint | ST UHR
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(C) Length of an electrode | e ISl ial

(D) Diameter of an electrode | Sﬁﬁz\?ﬁﬂ oqryg

Correct Answer : D

5). What is the colour of oxygen cylinder? | SHTTRTST el 1 H1T 3fle?

(A) Red |38

(B) Blue | &
(C) Black | =@
(D) Maroon | =1

Correct Answer : C

6). What is the name of the part marked as ‘X’ shown in the figure? | 3TH I GRifdded X’ U frgifdd
hoiedl U A1 BT 3HTe?
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2

(A) Handle | g8d

(B) Mixing chamber | fofadT deR

(C) Oxygen control valve | SffforTer =01 ared
(D) Acetylene control valve | Q@F@F‘ﬁ:{m%\/@

Correct Answer : C

7). What is the size of cutting nozzle for cutting mild steel plate having thickness of 3 - 6 mm? |3-6 feredt

TSl A 9 Td We BIUUgRTS! HicTT Aroterdl ThR fhdl 3M8?

(A) 0.8 mm
(B) 1.2 mm
(CO) 1.6 mm

(D) 2.0 mm
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8). Which metal is welded using medium coated mild steel electrode? |qwﬂaﬁa@m | sadgls du=-
YTl deS S bl SIld?

(A) Mild steel | T W

(B) Medium carbon steel | H&H HIe K Id
(C) Stainless steel |@7-|?HE%T

(D) Copper | didl

Correct Answer : A

9). What is the diameter of electrode for welding a plate having thickness over 1/2"? | 1/2 "U&fT S SIS
3T WA dfE I8! Saiaeiedl AN fabdl 31182

(A) 1/8"
(B) 3/16"
C 174"
(D) 5/16"

Correct Answer : D
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10). Which rod is used in stainless steel gas welding? | LY Wi 719 ST Dol S TR SITdi?

(A) Pure aluminium | Y[ G{VRI&I'ERTH
(B) Copper silver alloy | DR dict [y Yrd
(C) Columbium stainless steel | PIGIgH I wie

(D) Copper coated mild steel | PR At TS Tid

Correct Answer : C


javascript:void(0)

Page 35

NIMI Mock Test

1). Which tool is used to rotate the die nut during the reconditioning of
damaged threads? | W[4 I %IS*{-Ith Reb SR REH 8 -c
HIU 1L IR WId?

(A) Spanner | TR

(B) Die holder | ST BITER
(C) Tap wrench |a"‘q§'—7,[
(D) Allen key | ¥&H &t

Correct Answer : A

2). What is the name of the element marked as ‘X’ shown in the figure? |

ATH AL GRIT ‘X' U fargifhd haicdl geh A1d BT 3Ma?

— = i, . 1%
i “\ ‘
_ =

(C) Pitch | 9

(D) Flank | TRid

Correct Answer : C

3). What is the name of the angle marked as "X’ shown in the fi ure7 |
TH e TrRIaAed ‘X’ TUH él%ﬁﬁo—d HIcdl B A1d B
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(A) Chisel angle | [F=Td &9

(B) Rake angle | ¥& ®IH

(C) Point angle | Gis¢ &I

(D) Lip clearance angle | foT0 fe@erR=q &9

Correct Answer : D

4). What is the name of the tap wrench shown in the figure? | &Hﬁ'ﬂ?ﬁ
<Y ¥ 19 BT 3HTg?

(A) Box type tap wrench | I YBR U 3g

(B) Solid type tap wrench | ifers CIEL U
(C) ‘T’ Handle tap wrench | ¢ §8d ¢U ¥

(D) Adjustable tap wrench | TSoedd ¢J 3g

Correct Answer : B
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Q%What is the size of the Letter ‘A’ drill? | 31&R ‘A’ f$era 3THR bt
?

(A) 6.045 mm

(B) 6.147 mm

(C) 5.944 mm

(D) 6.248 mm

Correct Answer : C

6). Which drilling defect is shown in the figure? | W@W lglﬁll
Q1Y axifder 3ie?

(A Upsgpd! lplenath IG57H0ABT8>. 8055403224, 9325721873

----- B) -Unequal-point thinning | 3 feig TRISBRII- = = = = = = == == = = == == = o= oo oo o -
(C) Drill point not in the centre | %ﬁtr‘l'szqwmmﬂqﬁ

(D) Unequal flow of chips | I $HTH UaTg

Correct Answer : C

7). How the damaged threads are repaired? | WXId 2IN[Y ﬂﬁﬁw
EAISIRIRK

_______ (A) _Byusing die nut | ST A U _ _ . - e
Contact - 9370948482, 8055403224, 9325721873
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(B) By using button die | CUT ST dTU=A

(C) By using half die | 8T ST dIU=
(D) By using circular split die | WWWW

Correct Answer : A

8). Calculate the blank size for preparing a bolt of M12 X1.75 using die. |
S AR M12 X1.75 Tl Siee TR RO e SR TUHT DR

(A) 11.8 mm
(B) 11 mm
(©) 10.5 mm

(D) 11.5mm

Correct Answer : A

9). Which letter specifies the largest diameter of the letter drill? | CAK]
3{&R Tiex f$aar gald HId1 o™ PHA?

(A) A
(B) M

----- OZ- \CRZ -~~~ S/ """
Contact - 9370948482, 8055403224, 9325721873

Correct Answer : C

10). Calculate the RPM for a HSS drill, diameter is 24 mm and the cutting
speed is 30 m/min. | HSS fSTTAT RPM Tt TTUMT &1, TR 24 mm 318
3TFOT T 7Tt 30 m/min 3G

(A) 253 RPM

(B) 423 RPM


javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 39
(C) 538 RPM

(D) 398 RPM

Correct Answer : D

11). Which decides the point angle of the drill? | %?ﬁﬂﬁl’c:{ﬁqﬁw
3dI?

(A) Drill material | f$a IreEft

(B) Job material |a"TI'€f€T1=I";ﬂ

(C) Cutting speed | Pl Wi
(D) Size of the drill | SleTel THR

Correct Answer : B

12). What is the name of the die shown in the figure? | Wﬂ‘iﬁ
STl A1d BT 3Tg?

(A) Split die | Tilc S

(B) Half die | 8T% S
(C) Solid die | Tidils ™

(D) Adjustable screw plate die | \QS\SNEGM h @I S
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Correct Answer : B

13). Which operation enlarges the hole for a given depth? | CAIK]
STORT fadiedn Tieirdl feg S rd?

(A) Reaming | RHIT

(B) Spot facing | Tre Bl

(C) Counter boring | BT&HcX AT
(D) Counter sinking | ®T3ex I

Correct Answer : C

14). Which process refers to the finishing of drilled hole? | %ﬂ held fox
PRUGIIS! HIUTCt UichdT TG Ha HRd?

(A) Reaming | F¥HIT

(B) Spot facing | Wre Bl

(C) Counter boring | HT3HcX IRIT
(D) Counter sinking | HT3cR RN

Correct Answer : A

Contact - 9370948482, 8055403224, 9325721873
""" 15).-What isthe purpose of type “N™- twist-drills? { “N*“ fgxe fSaarSe=---- - - - -

1T 33?2

(A) Used for hard material | 8T8 ITRINITG! aroRa

(B) Used for brittle material | %ﬁ%’ JrETET AR ST

(C) Used for soft and tough material | 73 30T 3R AT dTURe SId
(D) Used for normal low carbon steel | HH! BT LIS aTuRe ST

Correct Answer : D
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16). What is the name of the angle marked as ‘X" shown in the figure? |

AMHATHS I ‘X' B fagifhd SR A1d $1 35

(A) Tapper lead angle | TR die I
(B) Bevel angle | a%ﬂ?ﬁ:[

(C) Helix angle | %ﬁwaﬁq

(D) Clearance angle | %GRT\“[@?

Correct Answer : C

17). What is the name of the die shown in the figure? | &Wﬂﬁm
gdr A1d B 3M1g?

_______ (0 {///}

s

(A) Circular split die | TR e s/
(B) Half die | 8T% S
(C) Die nut| S e

(D) Adjustable screw plate die | TSoRed h @I S

Correct Answer : A
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18). What is the effect, if the clearance angle of drill is more than the
recommended? | ST [FTeR= B9 RIGRY HATUET SR 3™
DY YR gldr?

(A) Larger hole size | AT fgmn seR

(B) Rough surface finish | TSdald UBHNT JHIW
(C) Weakened cutting edge | W?ﬁb'%ﬂ YR
(D) Chattering of drill | HAG ! dS8S

Correct Answer : C

19). Why hand reamers are provided with uneven spacing of teeth? | g8
RN ETAHE SGH 3R BT fed Sd?

(A) To reduce chattering | 9593 HHI HITATATST

(B) To remove more metals | 37fYH mqwamﬁr

(C) To increase the efficiency | PRIGHAT dTGauaTaTS!

(D) To increase the tool of the life | STt 1Y dTGauaRITa!

Correct Answer : A

(A) For holding and turning of tap | <Y Y=+ SAugTaT 0T g vgraradt
(B) To form the cutting edges | BT Bl TIR HRUIMHIS]

(C) To assist and align | Had 3T IRRAT HIvgIATST

(D) For easy chip removal | T g SHIeuarrdt

Correct Answer : C
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21). What is the name of the part marked as "X’ shown in the figure? |
AMHATHS SR ‘X' UM fagifd daedl HITR A1d BT 3Te?

(A) Base |

(B) Spindle | RUsd

(C) Radial arm | AfgTa 3
(D) Spindle head | f&r=a gs

Correct Answer : D

----- 22)- Which-angle is-determined by-the helix angle in the-drill bit? L%ﬁ - - - - -
[EEEKVSTTIE Gii

HTTOIV GOER4 Y] 8955403228, 9325721873

(A) Point angle | gisc dH

(B) Rake angle | Y& &I

(C) Chisel angle | IEEGKS]

(D) Clearance angle | &3R4 ®H

Correct Answer : B
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23). Which method is suitable to remove the broken stud that is very
near to the surface? | JEURTTA] 3Td] S1de S el S

HIGUINTS] HIUA! Ugd AT 3MTg?

(A) Ezy out method | 3t 313 ¢ Utad
(B) Making drill hole | A®IT Sid gId
(C) Prick punch method | fiie va uweq

(D) Using square taper punch | 3R <R Ul dT0R o+

Correct Answer : C

24). What is the purpose of clearance angle in twist drill? | @E%ﬂﬂ?ﬁ
fRISRAT SHTTeTal 3% B 3He?

(A) To prevent rough holes | GSFeId fe5¢ ST UANTO!
(B) To prevent over sized holes | SITI¥d BRI [ TS UMl
(C) To prevent unequal angle of cutting edges | BT DSl YA I CIBSTANITS]

(D) To prevent drill friction behind the cutting edges | Carl| Wm%ﬁm
CTSUGRITST

Correct Answer : D

25). ViR4ttiaBte narfls 608848 2ha80RSANSRAR 10 P32 2 GHS
----- variation-in size? | SFBRFT b Thrdh SHIREIRT TIT-he SRdeH SFd -~ - - - -
919 &Y 3MTg?

(A) Die nut | $T5

(B) Circular split die | TR e S8
(C) Half die | 31 T3
(D) Adjustable screw plate die | THRISI ¥ WIC 8T8

Correct Answer : B
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NIMI Mock Test

1). What is the name of the dresser shown in the figure? | &Wﬂﬂ?ﬁ

IR TG B 3ATR?

(A) Stone dresser | TH 314?
(B) Diamond dresser | E’RTH%’@HT

(C) Star-wheels dresser | }€IR %ﬁﬁ 3’\‘!?
(D) Abrasive stick dresser | @?ﬂ%’ LG éﬂ?

Correct Answer : C

2). What is the advantage of mass production? | AISIT YHTUMTEAR ST

Contact - 9370948482, 8055403224, 9325721873
----- (AY -Initial experditare tstigh 1 TEAAATGA SIS = "~~~ -~ -=-=-=-=-=-==-=-=~-=-

(B) Gauges are used | 75T TR SITdTd
(C) Jig and fixtures | fSTT 3101 fheerk

(D) Spare parts can be quickly made available | 'ﬁ% YT AqHY U B ¢l Adrd

Correct Answer : D

3). What is the use of "GO” gauge in progressive plug gauge? | PIIRES
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W TIoHY "GO” 1ol aTaR 1Y 3MTg?

(A) To check the upper limit of hole | fardl ot Tafer qurTarTe!
(B) To check the basic limit of shaft | [Tt HdaHd il TURITATRITS
(C) To check the lower limit of hole | HI® WTell HATGT TURIUATHTS!
(D) To check the upper limit of shaft | MUl aR! iG] TURIUATRITA

Correct Answer : C

4). Why annular groove is provided on the knurled surface of plain ring
gauge? | %’Glﬂiﬂ JYUNTIAR S Ul QIaoil &1 fadl! SITd?

(A) To Identify “NO GO" gauge | "NO GO" < 1B EUIRITS]
(B) To identify “GO" gauge | "GO” ST 3iSQUITTB!
(C) Provides more grip to the gauge | Torel] 3 Uh e UaH Hd

(D) Provides appearance to the gauge | ST W= UaH Hd

Correct Answer : A

5). What is the name of the gauge shown in the figure? | &Wﬂ?ﬁ
o A1d BT 3MT8?

224, 9325721873

(A) Pitch gauge | EERIE|

(B) Angle gauge | I (3Ta) Tl
(C) Feeler gauge | flheR TS
(D) Radius gauge | Y13 el
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6). Which process makes the grinding wheel run in concentric circles? |
a%ﬂwcr%ﬁ THTY Tqeald aTdd?

Correct Answer : D

(A) Truing | €87

(B) GIazing|1@|'sEﬂL‘T

(© Loadingl?ﬁ@ﬁ:"{

(D) Balancing | JHdId YTl

Correct Answer : A

7). What is the advantage of gauging of components? | i<l TSI
BIIEl B 316?

(A) Skilled operator is required | PRI JHURCR HaRGD 3T
(B) Faster checking of the product | JATGATH! STl auroft
(C) Expensive | HaITT

(D) Slower checking | 8dR qUrUfl

Correct Answer : B

....................................................

8). What is the use of diamond dresses? | STTHS %@N—Idl STINT HI?

(A) Dressing and truing of grinding wheel | ‘JITE'%‘T%’I?I%%‘WT 3for EE"T
(B) Balancing the grinding wheel | W@Tﬁﬂﬂﬂ%ﬂm

(C) Holding the grinding wheel | ATS{STT &I 4=

(D) Guarding the grinding wheel | ATSf&T &id U8RI

Correct Answer : A
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9). Which machine uses star wheel dressers for dressing the grinding

wheel? | BTG ORI UEFET Gid SRITHTET TR Bid 9OR dTURd?

(A) Cylindrical grinder | @ri%r%wm
(B) Surface grinder | BT A&

(C) Pedestal grinder | Uswd e ST
(D) Centreless grinder | Heay IS e

Correct Answer : C

10). What is the use of thread ring gauge? | e T TS SUTNT ST 3Tg?

(A) To check'the external thread | dT&l YTII TUTIUITATST
(B) To check the internal thread | i YN TUTHuETTS
(C) To check the external taper | Eﬂ@%ﬂ? GRS

(D) To check the internal taper | JTId TR qUIHUATHIS T

Correct Answer : A

11). Which indicates the strength of the bond in the grinding wheel? |

TSI el SISl drha DIl aiad?

(B) Grade | DK
(C) Structure | I¢d=RR
(D) Grain size | a:fﬂ'lgﬁf

Correct Answer : B

12). Why grinding wheels are dressed? | ST I BT HUS uldd
olTdrd?
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(A) To restore the correct cutting action of the wheel | qThTdl Ig Hie forar
YA AR HRUGTATS!

(B) To make it run concentric with the air | d 8d98 THTId- ATAUIETA]

(C) To align the wheel in the spindle | RISTHE TTd TRAT BRI

(D) To remove cracks from the wheel | ITHTJ P HIGUINTS!

Correct Answer : A

13). Which bond is used in the grlndlng wheel of grinding mill rolls? |

TS fST it eqaA AT SIaHe HIvd 6 KIRIGH

(A) Vitrified bond | faf¢®IEs sive
(B) Silicate bond | Riferre sis

(C) Shellac bond | AP 9IS

(D) Resinoid bond |m3€avﬁ

Correct Answer : C

14). Which limit gauge is used to check the outside diameter of
workpleces7 | a%dlﬂﬂl TfaT T aruRdn

————— (AY -PHuggauge] TRTFI= = = = = = = = = = = = - s s o s e oo

B) Prggresglgecglug—gagg%ﬁ%&%ﬁ%% ﬂﬁr8055403224’ 9325721873

(C) Taper plug gauge | TR W S
(D) Plain ring gauge | Tt 3 e

Correct Answer : D

15). Why silicate bond is preferred for grinding fine tools and cutters

than vitrified bond? | faf¢®Igs STsUaT TRih g 0T e UryTarTe!
dledl WY & Tadl SIad?
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(A) For high stock removal | I Wb HIGUIMNES!

(B) _ For milder cutting action and less harshness | oqwg e Tvﬁ 3ffor et
HORYUTHTS!

(C) To produce less heat | HH! I AT HRUGTS!
(D) For flexibility and fine finish | Taferedl S0 Ih Y UGS

Correct Answer : B
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NIMI Mock Test

1). Which ore extracts zinc? | I0Id YT OI¥d Pledld?

(A) Bauxite | STTSC

(B) Galena|1ﬁ:ﬂ

(C) Calamine | FETHTEA
(D) Cassiterite|ﬁé?|§_cr

Correct Answer : C

2). What is the least count of Vernier height gauge if 49 main scale
divisions is equally divided into 50 vernier scale division and
Tmsd=1mm? | 49 T TAURTHAT 50 BHIR W fofegs 3ifol 1msd =
1mm H@Wﬁgﬁwmﬁﬁﬁiﬁﬁmﬁmﬁ 3MTe?

(A) 0.01Tmm
(B) 0.001 mm
(©) 0.02 mm

(D) 0.002 mm

Correct Answer : C
....................................................  revort I

Contact - 9370948482, 8055403224, 9325721873

3). Which term refers to the relationship that exists between two mating
parts? | ST ST G191 YRTTHE 3{Rdld el SaeiHT gerd ha?
(A) Fit| e

(B) Limit | fetfee

(C) Tolerance | E'VIFRT\‘:[

(D) Allowance | AT

Correct Answer : A
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4). Which cast iron has the ability to reduce vibration and tool chatterin

in machine tools? | PV HRE 3HAHHEN T gAed HUA T FedT
HIUYTT &HdT 3HTe?

(A) Grey castiron | U PRE A

(B) White cast iron | %1%‘6’ PRC 3T

(C) Nodular cast iron | ﬁwm 3
(D) Malleable cast iron | fr%mw 3T

Correct Answer : A

5). Which steel is used for making cold chisels? | g el STauaRITAt
I qToRe Sild?

(A) Dead mild steel | S8 T Wil

(B) Medium carbon steel | AYH HTeT T
(C) High carbon steel | 3™ CACE RN
(D) Mild steel | 1 Td

Correct Answer : C

. What is the maxi imit of size_ if the basic size of t ]
2mV\; t“ché%ﬁevi’atié%%_ 5)?32 t}'grf%’? | : éi&l?%éﬁ%ﬁitﬁ[‘%zs
el BT STR?

""" fagaT £ 02 mm IR MMSGRIT BT

(A) 25.2 mm
(B) 24.8 mm
(C) 25.02 mm

(D) 24.08 mm

Correct Answer : A
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7). When can interchangeability be used effectively in manufacturing
industry? | STGH ITNTT 3Gl YUETU Hefl dTURc! SRS, Rdhd?

(A) For repairing and reworking |W 3{foT Yl hTH HRUGMETS]
(B) For single piece production | RITel O STt

(C) For batch production | o SATGATHTS!

(D) For selective assembly | fae® sisrdt

Correct Answer : C

8). Which tool.is used to remove high spots on all flat and curved
surfaces? | Jd JUTC 30T Ih YEUNTIGRIA S ST B UATS! 0T e

?
(A) File | BISd
(B) Hacksaw|€VW\TJ
(C) Chisel | f&53il

(D) Scraper | THUR

Correct Answer : D

LI

HOLE

()

(A) Transition fit | QT'_E’;ﬁ'QFTﬁTC’
(B) Shrinkage fit | bl fthe
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(C) Clearance fit | fdceR=q fthe

(D) Interference fit | EETEF*F\‘[ fpe

Correct Answer : D

10). What is the name of the part marked as 'x’ shown in the figure? |
& alRIdccdl 'x" U -6l d il YT A1d ST 3'”%?

'1

X

[y iy
14 18 16

|
|:

10 14

=i

2 3 4

i

rll|ll1lll]llll||II1III]IlrII|I w I|]II1I|III|II
&

a

(A) Base |a¥
(B) Beam | CiE
(C) Main scale | H’@I@?_d

11). What is the name of the fit shown in the figure? | &W‘ﬂ'ﬁ[‘iﬁ
fthed 19 B1a 3M18?
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SHAFT

HOLE

(A) Transition fit | I3 fthe
(B) Clearance fit | faaR= five
(C) Shrinkage fit | 4T fioe

(D) Interference fit | $C¥~4 fthc

Correct Answer : B

12). Whatis the upper limit of the component size? | 9 BRI CIE]|
TIIal BT 3Te?

+ . 008
- 005

20

(A) 0.005
(B) 0.008

_____ 0 N 1 K T L
o) 26@Btact - 9370948482, 8055403224, 9325721873

Correct Answer : D

13) Why the scraping dlrectlon is changed on the curved surface? | dsh
Wﬁ?ﬁﬁ EENRISIRE

(A) To ensure uniform pressure | THIHT dld gﬁf%ammﬁ
(B) To ensure uniform surface | THIHT JEHTT HfHa srogrardt

(C) To ensure uniform wear | qwmgﬁagﬁ@ammﬁ
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(D) To ensure uniform load | THIAM YR T HRgrTS

Correct Answer : B

14). What is the maximum clearance value if hole size is | OR fegre
PR 3R TR DA [FeR~T G fddl 31mg?

+0.021 -0.007 .
20 0.000 and shaft size s 20 0. 020

(A) 0.020 mm
(B) 0.007 mm
(C) 0.028 mm

(D) 0.041 mm

Correct Answer : D

gr)%What is the expression for 30H7/g6? | 30H7/9g6 13T Akl P
?

(A) Fit] e
(B) Limits | ferfre

----- (€y -Deviation{ SRR = = = = === = = = === = === - - oo
D) To%?aqqtcﬁcerfmiq 9370948482, 8055403224, 9325721873

Correct Answer : A

16). Why lime stone is added as flux to the ore in the blast furnace? |

SRE A YTl UdTe FUM Il G118 HT Slsdl Sidl?

(A) To form molten slag | HAlee’ W a9’ B0
(B) To supply oxygen | STfeRTST gRdal DU
(C) To burn the carbon in coke | Hih A BHIa TSI
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(D) To increase the melting point of ore | SIEIRERE %@ GG REIE]

Correct Answer : A

17). Why agricultural equipment is made up of wrought iron? | RIc
JYDHRUI BT TIR heil STTc?

(A) High cost | ST fbaa

(B) Heavy weight | SIS duid

(C) Wear resistant | IS PIGREER

(D) Corrosion resistant | Tt ufeRiys

Correct Answer : D

L?r)%Which is the purest form of aniron? | NIREREIS R[& ¥d2Y B0
?

(A) Grey cast iron | JGTS! HRC A8

(B) Wrought iron |mm

(C) Pigiron | Ot S

(D) Castiron | 3Nclig ARdS

————— Correet Answer :-B-

Contact - 9370948482, 8055403224, 932572187

19). Which is the grade of tolerance? | ﬂ'%uﬂ?ﬁﬂ GOl IUTdT 31Tg?

(A) Bilateral tolerance | STTICId ClAR—Y

(B) Unilateral tolerance | glr-\-ldlc{cl C\IJQR&-I\

(C) Fundamental tolerance | Wﬁ?ﬁﬁm

(D) Fundamental deviation | heHed chRr{-I\

Correct Answer : C
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20). What is the purpose gf dial test indicator attached to a vernier
height gauge? | ®FIR glgc O Sledcdl S ¢ Siadhexdl I H
?

(A) To check the parallelism | FHIdRdT TURIUGTETST

(B) To check angular measurement | DI AT TURUARITS!
(C) To check perpendicularity | GCERRNIGEIRERIIG]

(D) To check the width of slots | iicdl $al TURIUARITS!

Correct Answer : A

21). What is the lower limit of size, if dimension is stated as | SITRIRTAI
HH! HYlEl U BT 3 TR
+0L00 2 j?

5—0.000

D 2

(A) 24.85 mm
(B) 24.75 mm
(C) 25.00 mm

(D) 25.021 mm

_____ C_o_rr_eEt_ﬁs_w_eF:_C_______________________________________________
Nt act

22). Why zinc alloy is used for coating of roofing sheets? | feich fory Yrq
U1 AURITST T aTuRdle?

(A) Due to low density | HH! Wﬁ'ﬂ%
(B) Due to thermal expansion | yd ﬁﬁm@
(C) Due to corrosion resistant | L | uﬁ?’ruwa%

(D) Due to heat conduction | SWIdT dg- %IIc'quj,o\o

Correct Answer : C
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Report

23). What is the name of the part marked as "X’ shown in the figure? |
TP GRIfdeed ‘X U fergifdhd dheied] U A1d B 3T8?

(A) Tuyereslm
(B) Molten slag |II§|R7R?\1JT[
(C) Molten iron | Alee 3Ta=

_____ (D) _Tapping hole | CU T &I _ _ _
Cont ac_:L - 9370948482, 8055403224, 9325721873

Correct Answer

24). Why hole basis system is prefered over shaft basis system? | e
3T o¥f NS IUITHTST JTUE SR YuTeiiiasi! gidl SR YoITeliar W=

OO HRUT B 3g?

(A) For easy handling of shaft | RTGC RGICERSIEREIN
(B) Easier to alter the shaft | QMM W‘ﬁ’f I \’rﬂ%
(C) Difficult to alter the shaft | QMY ol IUdTsidl

....... (D) - Easier-to. check-the shaft | LT TURI0 THY 3118 - - -« « -« @ o oo oo oo oo oo
Contact - 9370948482, 8055403224, 9325721873
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25) WhICh all % is used for coatlng on steel sheets of food containers? |

DTS DIvTd flY 4T IR STl

Correct Answer : B

(A) Tin | &Y
(B) Lead | R
(C) Copper | did
(D) Bronze | BT

Correct Answer : A
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NIMI Mock Test

1). What is the name of the angular measuring (A). Bevel gauge | 4T T
instrument shown in the f\igure? | &W?ﬁ (B) Bevel protractor | §&d Ulcidex

?
HIHA AT g Gﬂ-% (C) Universal bevel gauge | gﬁwaﬁ?mﬂ\—:r
(D) Universal surface gauge | gﬁwqg‘umﬁvyr

Correct Answer : C

2). Which punch is used for witness marks? | (A) Dot punch | STSE
HIVTAT U=l JTORT STl (B) Pin punch | Ug
(C) Bell punch | 9 Ud

(D) Centre punch |@?Tti?[

Correct Answer : A
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3). What is the first step to avoid accident at (A) Wearing safety equipment | R ARE

work place? | STHAI 3TYTd T3 UITTA! (B) Doing things in one’s own way | TS} Tad:=T AT 201
) (C). Observing safety precautions | &l TaReR fAtemr

(D) Doing things with a highly skilled working practice |
&mﬁmm'ﬂém

Correct Answer : C

4). What is the accuracy of Vernier bevel v, |

protractor? | 3R Jad Ulcder Al SHhdl HI (B) 5°
&”%-? (C) 5’

(D) 5"

Correct Answer : C

(A) Copywriting | BHIUREAIT
(B) Marketing |IITahv_%‘T

(C) Teamwork | EHHa®H

(D) Planning IW:ﬂ?-W

5). Which is a soft skill? | Gt Rehdl TS H1?
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Correct Answer : C

6). What is the meaning of 'Seiri" in 55 RIAF » "
techniques? | 5S TATd ‘Seiri’ T 31 B 3M8? (B) Cleans and inspects | TI=5 3M1fd qurgoft @
(C) Operating procedures | S{TRIET Ui

(D) Removes unnecessary items | 3HATARYP d&] Plg

Correct Answer : D

7). Which chisel is used for squaring materials at (A)_ Flat chisel | ST Fsic

the corners and joints? | R
BIUTH fegell aToRet

GI'I?[? (C) Diamond point chisel | SIS faga

(D) Half round nose chisels | 8T AWH S i?lsm

(B) - Cross cut chisel | PIF Be RIZR

Correct Answer : C

8). Which vice is used to hold hollow cylindrical (A) Pin vice | fo a1y

jobs? | Uidhes SRR SIed SAUIRITS! PIOTd (B) Pipe vice | UTSU aTSH
) (C) Hand vice | 58 ®ISY

(D) Bench vice | aﬁfa@
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Correct Answer : B

9). What is the name of the vice shown in the (A) Pin vice | Ui =T

figure? | STHATH G-I GIUMd 19 B (B) Pipe vice | UIST BTEE
? A
e (C) Hand vice | 875 ®189
(D) Quick releasing vice | B Aot =g

Correct Answer : C

10). What is the name of the part marked as “X" (A) Heel | fee
shown in the figure? | 3TPHdTHE TRATIAT “X" (B) Tang |1

(C) Ferrule | Bod
(D) File length | BTad qial!
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Correct Answer : B

11). Which part of the bevel protractor comes in (A) Dial | StacT
contact with the inclined surface while (B).Disc | f&t®
measuring? | AT4H BRI dcgc] Yicde T HIord Al =
YT helcied] GYHRT=AT SUHTd Ad)? o)

(D) Stock | i

Correct Answer : C

12). Which marking media is poisonous? | IUd (A) White wash | ST<e 311
BISRIREEIN 3”%E| (B) Prussian blue | TR &

------------------------------------------ (C) -Coppersulphate |- BIIRT@ERE. - - - - - - - - o oo oo -
Contact - 9370948482, 8055403224, 9325721873
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(D) Cellulose lacquer | Re[egSl TWhR

Correct Answer : C

. ) \ A) Doi ki ient I UG- BT B
13). How should one avoid accidents in a w404 5 NG N
workplace? | BT fSHT0f SUETd HY cTBTdd? (B) Doing work in one’s own way | 20T UGAIR BT B0

(C) Not observing safety procedure | JR&T PIER AR
E2GKIG]

D) Observing safety rules in‘all aspects | chmvfﬁ qRE&m
fﬁtmﬁ LISEEgL

Correct Answer : D

14). Which material is used to make bench vice? | (A) Tool steel | T &Id

o9 BT HIUITST B0 FTHIT ATGRE SITdl? (B) High carbon steel | 8T HTe Wil

(C) Medium carbon steel |UWWR°[F[
(D) Cast iron | PR T

Correct Answer : D

15). Where will the weight of the hammer be (A) Face | T&31
stamped? | R TG DS DRI 3? (8) Pein | G
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(D) Eye hole | 3 gl

Correct Answer : C

16). What is the use of try square shown in the @ TR
ﬁgur;% &”W clddeiedl ¢ld SR TN (B) To check the squareness | FRTYUI TUTHUIRITS!
DPIY 3HTg?

(C) To mark lines at 90° | 90° &R X§T fagifdhd HRUANTA]

%)E) To set the workpiece at right angle | JHUN Il HIHd
ERLINIG]
Correct Answer : B

17). What is the name of the vice shown in the (A) Pin vice | fi aTgw

figure? | Sﬂﬁmﬁ'ﬂfﬁ@w g?iﬂlla 1d b1 (B) Pipe vice | UTSU d1$d
(C) Hand vice | _E\!J_S'W
(D) Machine vice | ﬂ"«’ﬂqm
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ATy

Correct Answer : A

18). Which file has parallel edges throughout the (g file | &S PIRd
length? | BIUTT ISl ciaied iR del (B) Bastard file | %S BT3d
?

(C) Rasp cut file | I dc IgeT

(D) Single cut file | RiTd &¢ IS

Correct Answer : A

19). Which caliper is used for finding the centre (A) Jenny caliper | St ®feraR
of the \rJound bar? | T Cléla &g AMYTITHTSL (B) Inside caliper | 39S S HIAWR
ﬁvﬁmaﬁmﬁ?

(C) Outside caliper | 313¢ HZES HIAUIR

(D) Firm joint caliper | Y g BT
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Correct Answer : A

20). Which type of file is used to make the job (A). single cut file | RATCT e T

closer to the finishing size? | dTH BAEIRR (B) Curved cut file | #68 HC BI3d
& SITUTTIS] BT bR WIS
m%%i (C) Second cut file | §F~S ®c BISA

(D) Double cut file | 8d¢ &c WIS

Correct Answer : C

21). What is the name of the angle between the (A). Rake angle | X $IT

axis of chisel and the job surface while chipping? (B) Point angle | Glgc WIcT
'Ll'i?:l'l?ﬂad;l"lla = Oblz{&[\’rﬂ%? qum (C) Clearance angle|a%ﬁuw&“ﬁﬂ

(D) Angle of inclination | SFFRIARIT DI

Correct Answer : D
A) First Aid | TYHIUER
22). Which is an immediate life-savin (A)_First iy
procedure? | dlch [ G ICELIR EI%EII A (B) Call a doctor | SlaexiHT dicial
?

(C) Call an ambulance | b*UIdI%CbI CAGESERY

(D) Medical treatment | IS ITEAR
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23). What is the advantage of waste disposal? | %es lot of energy and resources | i e

DR |a%5||€ AU gl h1y?
(B) Increases adverse imFact on environment | YTGRUMER

BI0IRT el URom
(C)  Ensures workshop is neat and tidy | PTIRINST AR
3TOT e STeard! @l Hd

(D) Reduces economic efficiency | e Briemar HH HRd

Correct Answer : C

24). What is the name of the file shown in the Y RG]
figure? | 3MTddld GRIJACT BIg T ATd B 3Tg? (B) Riffler file | RN Wz

| (©) Crossing file | PN B

(D) Mill saw file | e I w1
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Correct Answer : B

(A) First 30 minutes after incident

25). Which period is referred to as the ‘golden
hours’ for an injured person? |G|"@|ﬁf5qa?ﬂﬂ'l?5°[ (B) First 30 minutes
DIV HIATGE Jaul dRY TGU Sficeadl Sid?

(C) First 45 minutes of admission

(D) First 60 minutes after treatment

Correct Answer : A


javascript:void(0)
javascript:void(0)

Page 72

NIMI Mock Test

) . Y o o
1). What is the main advanta.ge ofgdjustable (A) To set different angle | f& D9 I HRUIMTA]

parallel block? | THRIIST YHIGR scildh] TR (B) To set different depth | fia Wici ¥ BRI
hTUgl h[Y \31|%7 .
) (C) To set different length | {375 diel T HRUARIST

(D) To set different height | fifs 3=t Je HvarIS

Correct Answer : D

2). Which metal property can resist the effect of (A). Ductility | gfaefeict

tensile forces without any rupture? | HITAT YT (B) Tenacity | ¢HTRIcT
QUTefs T TeRdTe JUTaer (C) Elasticity | SARSRICT

OfdhR H& Qhal?
(D) -Malleability | Aifcifafcre

Correct Answer : B

3). Which metal property can with stand shock (W _Tecagl
or impact? | HIUTdT YT TUTH Riidb fdhdT SHTaTd (B) Hardness | TS
? (C) Brittleness | fsea— 4

(D) Toughness | T

-~ "Correct Answer: D
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4). Which part of an universal surface gauge is o Ty

used to set scriber exactly at the required (B) Guide pin | Tgs fu
position? | ATAR® YU ot IO HRT

3TIYH RITIGR FhISeR (HiEd HRUTITS! aTuRer
SITan? (D) Fine adjustment screw | BT3 THTIS B

(C) Rocker arm | BT HTH

Correct Answer : D

5). Which metal property. is beneficial for (A) Fusibility | wferfaferct
melting? | 194 ST DTl W‘Imﬂﬁ (B) Specific gravity | fafR1¥ o

3] %?
. (C) - Conductivity | dTedhdl
(D) Structure | T

Correct Answer : A
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6). Which metal property can be drawn into the (A) Ductility | <
wire without any rupture? | TRREL HIUTAT YTl (B) Tenacity | S-IRIct

TUTYH HIUTATG! BICcATRIE DTGl Adi? (C). Elasticity | STRCRICT

(D) Malleability | ATenaifsifere!

Correct Answer : A

7). What is the name of the metal-cutting saws [ShgPower saw | HTaRHI

shown in the figurg%wﬁﬁ gRifdciedt Hed (B) Horizontal band - saw | &fqe1 & - T
?

N] Y (V)
I i Ald Y (©) Circular saw | IIBTHR Al

(D) Contour saw | $VI-_C3 ar

Correct Answer : C
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8). Which material property returns to its original (A) Plasticity | IRefep<]
shape after the withdrawal of applied force? | (B) Elasticity | Taf<radr

ary Q-Ia%ﬁ IlTP[ lﬁ% HICTH Toughness | feigeqon

C
0 3MHRId URd Ad? I
(D) Hardness | SHUTI

Correct Answer : B

A) To prevent corrosion | @IS &le U]
9). Why surface plates are made of up of stress- ELor |

relieved, good quality cast iron? | URTTERIA @Ie (B) To prevent breaking | Sfd 1 TS
U 1 HT
daPllasgerd, diledl c oGy (C) To prevent distortion |ﬁ§ﬁﬁ2’|m13°f

o dId?
(D) To prevent thermal expansion | Yl fadR STt

Correct Answer : C

10). Why are ribs provided in the angle plate? | (AP Frovides flasiSss/ By

P wicHe Reg &1 fad STdra? (B) Prevents distortion | fagdt ufadafr @va
(C) Provides squareness | WWW

(D) Supports the machined surface | mﬂ'rrﬁwqgum
FHY &d

Correct Answer : B
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(A) Single level single groove | RiTe g RiTet g o6

11). Which type of “V” block is shown in the AP
figure? | HIUAT UbRY “V" q[H \’rﬂw?ﬁ _ .
? (B) Single level double groove | WWW%%}W
(C), Double level single groove | 94 dgd RiTd Ig &t
ITh

(D) Double level double groove | S¢ degd S9d U @I
ENIEY

Correct Answer : C

3
12). What is the specific gravity for aluminium? (A) 9 kg/em

o DI 3He? (B) 2.7 kg/cm®
(C) 2.6 kg/cm?
(D) 8.5 kg/cm?®

Correct Answer : B
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13). Which mechanical property of metal extends (A) Malleability | Hererel

in all directions without rupturing during (B) - Ductility | STaf<repdl

%ar;g%néng’lmdﬂdlﬂlﬂlq\dl cb.IUIdI??ITW © Fusibility | TR
(D) Elasticity | afdear

Correct Answer : A

14). Why slots are provided in the slotted angle (A) For job clamping | STe FTRTATSH
plate? | WcS 3Td QICHL ¥dicy &1 fad SITdTd? (B) For easy handling | Ie GTaTesUNEaT

(C) For reducing the weight | 9519 ®HI HRUTRTS]

(D) For better appearance | AT fGUITTST

Correct Answer : A

15). Why heavy ribs are provided at the bottom (A) To provide rigidity | FSPUUI UG HYUATAIS

of the surface plate7 | YR HIT=A] e dTit (B) For appearance | ¢ral 13!
oI & &1 U™ bl |Idia?

(C) To increase the weight | 95 GG R3]

(D) For dimensional accuracy | o W

Correct Answer : A
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16). Which part of the universal surface gauge (A) Snug | &
holds the scriber? | SIEHIEED IS HIT ST D IUTd] (B) Guide pin | TS 4
HITT BPTSSR YRUT HRI?

(C) Rocker arm | BT
(D) Fine adjustment screw | Wi SfSoReHe h

Correct Answer : A

(A) Solid parallel block | Tifelg UXdd sclldh

17). What is the name of the parallel block shgwp
in the figure? | W‘fﬁ a&i%él&ql HHIAY &b d (B) Tenon parallel block | T IRAd iid

(C) Angular parallel block | Q{J_,ﬂ( R sl

(D) Adjustable parallel block | Qﬁ@ﬁﬁmﬁﬁ'ﬁ
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19 BT 3Te?

Correct Answer : D
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18). Which metal is a good conductor of heat and (A) Castiron | 3ficiid TS
electricity? | SIUTAT YTd ITAT T fawrT FivTe (B) Mild steel | G e
? .
. (C). Copper | d@ia
(D) Wrought iron | dRgs! sHacia

Correct Answer : C

19). Which material is used to manufacture Grade (A)  Tool steel | 571 ETd

‘A 'V’ blocks? | U€ T’ &I ‘&l dIR HRUIMETB] (B) Carbon steel | PTeH el
G'Ta' (C) High quality steel |B?clﬁﬁ'\‘€lﬁ

(D) Closely grained cast iron | ISt I ARGS

Correct Answer : C

20). Which metal cutting saw is used to cut large (AP Power saw |ATH I

cross section area? | HI3T 19 AR &5 (B) Contour saw | BI<I Il
Hlel ST (C) Circular saw | '\‘@WR'HT

(D) Horizontal band saw | @ﬁ@?ﬁé@ﬁ

Correct Answer : C


javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 81

21). Which metal property permits no permanent (A) Tenacity | &Rict
distortion on before breakmg\? | ob|U|c|| ﬂ]q\m (8) Hardness | STEI

TureH qeudTgd! ST [dHd 813 od ATel? DIy, Soew

(D) Toughness | CHY

Correct Answer : C

22). What will be the effect if the metal reaches (A) Change in specific gravity | © Tl S

the melting temperature? | %H@Iddoéuqlcql (B) Change in weight | ISHId dd
ulumy gisa?
SIBEIBIPE Hlsldc"bll%l Il opld (©) Change in shape | SITHRTA T&e

(D) Change in pressure | GTd H& §gd]

Correct Answer : C

23). What is the use of adjustable parallel blocks? (A): Tosetan angular job | S Toa

| THTASY FHIAR sclaTa SUINT BT 3HTg? (B) To set the curved job | d% B A HRUARIS

(C) To hold the irregular shape of job | STHTT 3t
3{THR YRUT BVl

(D) To adjust and set different heights | g It Jumifoa
STOT e HRUTATSY
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Correct Answer : D

24). Which mechanical property of metal has the BIAT A

ability to withstand wear and abrasion? | YTq=AT (B) Hardness | $SHUUN
HIVIT FifAh UIUHHE UG ST STREST Fe .
HIVYTET &HdT 3TR? (C) Brittleness | fogeyun

(D) Malleability | Hetaar

Correct Answer : B

25). Which metal cutting saw is used for cutting (A Power saw | TTAY W

different rofiles?|mmﬁ (B) Circular saw | GRIeR |f
WWH@W TR STa? y T4
) QU (C) Contour band saw | PIg 9 HI

(D) Horizontal band saw | Bﬁﬁ?ﬁ?ﬁﬁgﬁ

Correct Answer : C
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NIMI Mock Test

1). Which is an integral part of the stock in Rlir
vernier bevel protractor? |Hﬁ&l? Sdd Udeaex e (B) Dial | STU@
Il SHTTHISH WIT BTV SH1E? (C) Blade | &S

(D) Main scale | H’@[@Td

Correct Answer : B

2). Which material is used to make drill chuck? | (A). High speed steel | T4 T1S ¥IT
($¢ Tb SIUITITAST HIUTH MUl aTuRel! SiTd? (B) Mild steel | T ®ial

(C) Special alloy steel | fo=re faryr ‘f‘.l'l'g"\‘aﬁ

(D) High carbon steel | I Hled LId

Correct Answer : C

3). What is the accuracy of a metric outside (A) 0.01 mm
micrometer? | HRIShTHICIAT STgRIcl Higehdl (B) 0.001 mm
3 dl D1 3g?
"’ﬂ%- (€) 0.02 mm
(D) 0.002 mm

-~ "Correct Answer: A
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Report
. . . (A) 9 mm
4). What is the drill size for tapping M10X1.5
mm? | M10X1.5 Tl U erugrard fgadn e (B) 8.8mm
frdl 3me?
&IT% () 8.5mm
(D) 9.2 mm

Correct Answer : C

(A) _While removing the battery from caliper | %%IW?E

5). IrT which sitgation the zero setting of a digital S8 BredrT
vernier caliper is necessary? | o
IR QfET 3aTHh &n%? (B) While turning off the vernier caliper | BT PHIeUR dq
HATT

(C) When jaws touch together | ST ST UH T TR} HRaTd

-~

(D) When jaws are separated |@|@TG|'®|@ q7Tes ol STdTd

Correct Answer : C

6). What type of operation is carried out in a (A) Idle operation | &R SffoR=r
%i%9$Chine? | TIT |3|3I‘I AfFHE PHivrd (B) Repeated operation of drilling | fSTeiTa TrRTaxi SRR
?

(C) Continuous milling operation | ddd BT SRR
(D) Successive operation of drilling | %ﬁl’lﬁ Tad TR
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Correct Answer : D

(A) Beam | &H

7). What is the name of the part marked as X’
GW'\%’@[ GRifdciedn X (B) Main scale | 7% Wi

shown in the figure? |
. G T e (C) Fine adjusting nut | g YA ¢

(D) Fine adjusting slide | €9 THTIIS w5S

PR g
Ir o & B0

1t

npaEgnRa g
4 15 B

"
&

1

fumuyigei
10

m—
o
i)

a1 2 8 4

Correct Answer : D

(A) Pillar drilling machine | faeR f$fei u=ftq
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(C) Bench drilling machine | 89 f$feiT A=A

(D) Radial drilling machine | R FSfei BN

Correct Answer : A

9). What is the reading of vernier caliper with (A) 1.068"
%duations shown in the figure? (B) 1.459"
A (C) 1.418"

(D) 1.409"
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o

S IeTURT dTH BT 3MTg?
s

2 3 4

2345867489

7

Correct Answer : B

1234567887 12534567484

0 15 20 25 30 35 40 45 S0

10). Which part of the drilling machjne is used to (A)--Flat pulley | e e
achieve set a different speed? | ENIEE)| (B) Jockey pulley | Siiehl Gefl
I aT[ @? ‘ (C) Stepped pulley | '\‘%@'W

(D) Fast and loose pulley | TPTXC G{V%’@G[Hﬁ[

Correct Answer : C

11). Identify the type of drilling machine whose SRR L (L T 1

spindle head is moved towards or away from the (B) Gang drilling machine | 717 f3fei w=fq
%%‘Qfﬂalm W = m Gﬂ?f (C) Radial drilling machine | T %‘%I"T ==

- e o mm mm mm mm o o o mm mm mm o mm Em Em mm mm mm o mm mm mm mm mm mm mm mm o e mm e e mm o e e e e -mrelm Ve S S L e R 0 O
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Correct Answer : C

12). What is the reading of the outside WeLG
micrometer 50mm to 75mm shown in the figure? (B) 63.00 mm
|&W@msgnr%?ﬁ7smma%ﬁﬁ © 6336 mm
(D) 63.13 mm
=
0 5 T == ~
Lipoa il (HEEE
LT T LT TT 1T 1T ] -
sl
—— .

Correct Answer : A

13). What is the name of the part marked as ‘X’ (A) Drill chuck | fgo 7@
shown in the figure? | &W@ E{Qﬁﬁﬁw X (B) Feed handle | I8 §8@

(C) Driving motor | ETEI'%T[ qie’
(D) Depth gauge and stop | ST TIST STIOT faT
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Correct Answer : A

(A) Spindle | fU=d
(B) Sleeve|‘€'ﬁo_6'
(C) Thimble | fia@

14). What is the name of the part marked as ‘X’
shown in the figure? | 3G gRIfdeied X’

(D) Spindle lock | s dld
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Correct Answer : C

15). What is the reading of the vernier bevel A 2820
protractor shown in the figure? | &Wﬂﬂ?ﬁf (B) 41°50°
(C) 50°50°
(D) 58° 50’
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cRIfdcd IR dogdf Uigdexd ara B 3Tg?

Correct Answer : B

16). What is the spindle movement of one A
division of thimble with spindle thread of 0.5mm (B) 0.001 mm
pitch? | 0.5 mmfﬁﬂﬁg%mfﬂww Yl
U BIddldd hY ? '

(D) 0.02 mm
Correct Answer : A

(A) Beam | §H

17). What is the name of the part marked as ‘X' in
vernier caliper shown in the figure? | &W‘ﬂﬁ'iﬁ (B) Fixed jaw | RR SigsT
<ifareten PITORAE ‘X' WU fegicha (C) Depth bar | S R
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bl HIT AT1d BT 3MTg?

01 2 3 4583 67 8 01011121314 151617

TENENENXHED |

[ﬁ

Correct Answer : C

18). Which part of micrometer ensures uniform (A) Ratchet stop | € T4

pressure between the measuring surfaces? | (B) Spindle | RUsd
UhHHIT qld gﬁ‘@ﬁ%&l-fp Kb (C) Barrel / sleeve | §d / Wileg

(D) Thimble | fjae

Correct Answer : A

19). What is the name of the part marked as ‘X’ (A) Anvil | 3Tt

shown in the figure? | THATE GRITAT ‘X’ (B) Thimble | s
(C) Spindle | U=d
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18U fergifhd heiedl U ATd H1d (D) Spindle lock | RIS @l

Correct Answer : A

20). What is the reading of the vernier caliper (A) 351mm

shown in the figure;%&w?ﬁ RifeeT O_G”EFGT (B) 35.2mm
?

HITIRT 9/ BN
4 7] B T a

(C©) 35.3 mm

(D) 35.4 mm

0 5 10 15 20 25 30 35 40 43 30

READING [ |
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